
Here's a puzzle related to the introduction of 5G technology and its historical trend: 

 

Word Search: 

 

Find the following words in the grid: 

 

E V O L U T I O N O F N E T W O R 

K S G P R O C E S S I N G P O W E 

R A D I O F R E Q U E N C Y B A N 

D A T A R A T E S P E E D U P G R 

A I M L E A R N I N G I O T T E C 

H I S T O R I C A L T R E N D S G 

P R O C E S S I N G P O W E R E D G 

E N H A N C E D M O B I L I T Y F 

 

Words to find: 

 

- EVOLUTION 

- NETWORK 

- PROCESSING 

- FREQUENCY 

- DATA 

- SPEED 

- HISTORICAL 

- TREND 



- MOBILITY 

 

Crossword Puzzle: 

 

Across: 

 

1. Previous generation of wireless technology (3) 

2. Key feature of 5G (5) 

3. Type of data transfer (4) 

4. Increased capacity requirement (7) 

5. Emerging technology enabled by 5G (8) 

 

Down: 

 

1. Wireless spectrum range (4) 

2. Device capability enhanced by 5G (6) 

3. Network architecture (5) 

4. Data transfer rate unit (3) 

5. 5G deployment challenge (7) 

 

Answers: 

 

Across: 

 

1. 4G 



2. SPEED 

3. STREAM 

4. CAPACITY 

5. IOT 

 

Down: 

 

1. MHz 

2. MOBILITY 

3. CLOUD 

4. Gbps 

5. SECURITY 

 

Logic Puzzle: 

 

Five generations of wireless technology - 1G, 2G, 3G, 4G, and 5G - have been deployed over the years. 

Using the following clues, determine the correct order of deployment: 

 

Clues: 

 

1. 1G was deployed in the 1980s. 

2. 3G was deployed before 4G. 

3. 2G was deployed in the 1990s. 

4. 5G was deployed after 2010. 

5. 4G was deployed in the 2000s. 

 



Anagram: 

 

Unscramble the letters to form a word related to 5G technology: 

 

T E C H N O L O G Y A E V O L U 

 

Note: Good luck! 


